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If 7 is added to five times a number, the result is 57. Find the number.

9 decreased from four times a number yields 43. Find the number

If one-fifth of @ number minus 4 gives 3, find the number.

In a class of 35 students, the number of girls is two-fifth the number ol boys. Find the
number of girls in the class.

Sham'’s father’s age is 5 years more than three times Sham'’s age. Find Sham’s age, if his
father is 44 years old.

In an isoscels triangle the base angles are equal, the vertex angle is 40°. What are the base
angles of the triangle 7 (Remember, the sum of three angles of a triangle is 180°)

Irfan says that he has 7 marbles more than five times the marbles Parmit has. Irfan has 37
marbles. How many marbles does Parmit have ?

The length of a rectangle is 3 units more than its breadth and the perimeter is 22 units. Find
the breadth and length of the rectangle.
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